

$$(1) (\cos t)' = -\sin t \quad \& \quad (-\cos t)' = \sin t \quad \text{I.E., 2}$$

$$\int_0^{\frac{\pi}{2}} \sin t \, dt = \left[ -\cos t \right]_0^{\frac{\pi}{2}} = -(\cos \frac{\pi}{2} - \cos 0) = -(0 - 1) = 1$$

$$(2) \int_0^{\pi} t \sin t \, dt = \int_0^{\pi} t (-\cos t)' \, dt$$

$$= -\left[ t \cos t \right]_0^{\pi} + \int_0^{\pi} \cos t \, dt$$

$$= \pi + \left[ \sin t \right]_0^{\pi} = \pi$$

$$(3) \int_1^{e^2} t \log t \, dt = \int_1^{e^2} \left(\frac{t^2}{2}\right)' \log t \, dt$$

$$= \left[ \frac{t^2}{2} \log t \right]_1^{e^2} - \int_1^{e^2} \frac{t^2}{2} \cdot \frac{1}{t} \, dt$$

$$= e^4 - \frac{1}{2} \int_1^{e^2} t \, dt$$

$$= e^4 - \frac{1}{2} \left[ \frac{1}{2} t^2 \right]_1^{e^2}$$

$$= e^4 - \frac{1}{4} (e^4 - 1) = \frac{3e^4 + 1}{4}$$

$$(4) \int_0^1 t e^{-t} \, dt = \int_0^1 t (-e^{-t})' \, dt$$

$$= -\left[ t e^{-t} \right]_0^1 + \int_0^1 e^{-t} \, dt$$

$$= -\frac{1}{e} + \left[ -e^{-t} \right]_0^1$$

$$= -\frac{1}{e} - \left( \frac{1}{e} - 1 \right) = 1 - \frac{2}{e}$$

$$(5) \int_0^1 x(x+3)^3 dx = \int_0^1 x \left\{ \frac{(x+3)^4}{4} \right\}' dx$$

$$= \left[ x \cdot \frac{(x+3)^4}{4} \right]_0^1 - \frac{1}{4} \int_0^1 (x+3)^4 dx$$

$$= \frac{4^4}{4} - \frac{1}{20} \left[ (x+3)^5 \right]_0^1$$

$4^5 = 2^{10} = 1024$
$3^5 = 3 \cdot 81 = 243$

$$= 64 - \frac{1}{20} (4^5 - 3^5) = 64 - \frac{1}{20} (1024 - 243)$$

$$= \frac{499}{20}$$

$$(6) \int_0^1 \frac{dx}{4x+1} = \frac{1}{4} \int_0^1 \frac{(4x+1)'}{4x+1} dx$$

$$x = 4t+1 \text{ तब } x=1$$

$$t = 0 \rightarrow 1$$

$$= \int_1^5 \frac{1}{x} dx = \frac{1}{4} [\log x]_1^5 = \frac{\log 5}{4}$$

$$x = 1 \rightarrow 5$$

$$(बीजक) (\log(4x+1))' = \frac{4}{4x+1} \text{ तब } \left( \frac{1}{4} \log(4x+1) \right)' = \frac{1}{4x+1}$$

तब

$$\int_0^1 \frac{dx}{4x+1} = \left[ \frac{1}{4} \log(4x+1) \right]_0^1 = \frac{1}{4} (\log 5 - \log 1)$$

$$= \frac{1}{4} \log 5$$

(5) का बीजक

$$\int_0^1 x(x+3)^3 dx = \int_0^1 (x+3)^4 dx - 3 \int_0^1 (x+3)^3 dx$$

$$= \left[ \frac{1}{5} (x+3)^5 \right]_0^1 - 3 \left[ \frac{1}{4} (x+3)^4 \right]_0^1$$

$$= \dots$$

$$(7) \int_0^1 \frac{dt}{(2t+1)^3} = \frac{1}{2} \int_0^1 \frac{(2t+1)'}{(2t+1)^3} dt = \frac{1}{2} \int_1^3 \frac{1}{x^3}$$

$$x = 2t+1 \in \mathbb{R}^3 \text{ t } \begin{array}{c|c} t & 0 \rightarrow 1 \\ \hline x & 1 \rightarrow 3 \end{array} = \frac{1}{2} \left[ -\frac{1}{2} \frac{1}{x^2} \right]_1^3 = -\frac{1}{4} \left( \frac{1}{9} - 1 \right) = \frac{2}{9}$$

(別解)

$$\left\{ \frac{1}{(2t+1)^2} \right\}' = -2 \cdot \frac{2}{(2t+1)^3} = -4 \frac{1}{(2t+1)^3} \text{ o.s.}$$

$$\left\{ -\frac{1}{4} (2t+1)^{-2} \right\}' = \frac{1}{(2t+1)^3} \text{ t.o.v.}$$

$$\int_0^1 \frac{dt}{(2t+1)^3} = \left[ -\frac{1}{4} \cdot \frac{1}{(2t+1)^2} \right]_0^1 = -\frac{1}{4} \left( \frac{1}{9} - 1 \right)$$

$$(8) I = \int_0^1 (1+t^2)^3 t dt = \frac{1}{2} \int_0^1 (1+t^2)^3 (1+t^2)' dt$$

$$x = 1+t^2 \in \mathbb{R}^3 \text{ t } \begin{array}{c|c} t & 0 \rightarrow 1 \\ \hline x & 1 \rightarrow 2 \end{array}$$

$$I = \frac{1}{2} \int_1^2 x^3 dx = \frac{1}{2} \left[ \frac{1}{4} x^4 \right]_1^2 = \frac{1}{8} (16 - 1) = \frac{15}{8}$$

(別解)

$$\left\{ (1+t^2)^4 \right\}' = 4(1+t^2)^3 \cdot 2t \text{ o.s.}$$

$$\left\{ \frac{1}{2} (1+t^2)^4 \right\}' = (1+t^2) t$$

t.o.v.

$$I = \left[ \frac{1}{2} (1+t^2)^4 \right]_0^1 = \frac{1}{2} \cdot (2^4 - 1) = \dots$$

(9)

$$\int_0^{\sqrt{3}} \sqrt{1+t^2} \cdot t \, dt = \frac{1}{2} \int_0^{\sqrt{3}} \sqrt{1+t^2} (1+t^2)' \, dt$$

$$= \frac{1}{2} \int_1^4 \sqrt{x} \, dx$$

$$= \frac{1}{2} \left[ \frac{2}{3} x \sqrt{x} \right]_1^4$$

$$= \frac{1}{3} (4 \cdot 2 - 1) = \frac{7}{3}$$

t	0	↗	√3
x	1	↗	4